ol
™
)
[ife]

<

TR
il
B
=l
7A

ol

S

(@)

- (Z

NeR~n)

@ 4

® -2

@ o

iy
0O

<k
oy
d
v
-
)

~
<
0

K
ol




D (=a?)? x (2b)3 = —4a*b3
® (—xy)? x 2xy = 2x?y?

@a2 X (=2b)% x a® = 4a°b*

@ (=3y)* x (=xy)?

o () (%)

—3x3y5
!
B







4. (Ax2—3x+1) + Bx+4) =3x2 +2x+ C oA A,B,C 9] &=

® A=2B=-1,C=3 ® A=4,B=-1,C=5

® A=4,B=-5C=-5 @® A=2B=5,C=3

(@)A:Q,B:—5,C:—3
B ~

(Ax> =3x+1) = (-=x> +Bx+4) =32+ 2x+ C
Ax? —3x+14+x>—Bx—-4=3x>+2x+C
Ax? +x?-3x—Bx+1-4=3x>+2x+C
A+1=3 ~A=2

-3-B=2 .. B=-5

1-4=C ..C=-3




(x = 2)(=3x) & tea] g Ao A

Rl

x2 ol AFE a, x9

TA]) = —2x% 4 6x — 3x% 4+ 6x = —5x% + 12x
a+b=-5+12=7
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= o] &2 g2 AL
@0.555 <o =0.55 ® 1.030303--- = 1.03
® 0.0060606 - - = 0.006 @ 8.020202--- = 8.02
(3 7.23434--- = 7.234
@ 0.555---
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[ |2 et sta
a’+ad® <[ |=a"r =1

Wb 7-5-x =001 x =2

[ ]=a?olth.
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12, 43+16x(-2)2 =29 o[ ]o] gre?

® 1 @ 2 @3 @ ® 5

43 216 x (-2)% = (22)3 + 24 x 22 = 26-4+2 — 24




13. ;x(Qx —4y) - 5x(x —y) & 7teto] o}HA?

@—2x2 — Xy @ -2x% - 11xy ® 8x% + 11xy

@ 8x% —xy ® x*+xy

~&B

gx(Zx —4y) = 5x(x—y)

= 3x% — 6xy — 5x% + 5xy
= —2x% — xy
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a+n=T754+2=7T7
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® a=10, b=21

®a=7b=10
® a=14, =10

~&B
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O|B2 q=3x7=21, b=2x5=10
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17. ohg 8] % olA14e BE 9 7 917}

@ 4x% - b5x
© x(4x—4)+2—-4x2
1
© ;—x
@ (2-4x+3x%) -2(x —4x+1)

1 1
@ <§x2 +4x- 1) - (—1 —4x - §x2>

@ 17 @ 270 @3711 @ 470 ® 57

~&B

Aol 71 & 347} ol7Aololok T,
Q. 4x? — 5x — o|x}A]o]t},

o.
x(4x —4) + 2 - 4x® = 4x® — 4x 4+ 2 - 4x% — AL 51 o)A}
=—4x+2
ao] 4715k
©. — - x — o|AFo] Rxio] gorg ofz4o] ohitt,
X

@.
(2 - 4x+3x?) —2(x2 —4x + 1) — o|zxpA]ojr},
=2—4x+3x2-2x>+8x—-2

= x>+ 4x

@.

1x2+4x—1 (c1-ax-Lle L=
(5 +ar-1) - (1-01-32)

:lxz—i-élx—l—i—l—i—4x—|—%x2
:%x2+1x2+8x
:%x2+§x2—l—8x
:ng—i—Sx
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18. (T =27, 5 = 625 L 1, 64°x625" ] A2 o] 5 b
@ 102 @ 1272 ® 17#4d]
@ 202+ @%xm

3x — 27 % 9—x+y — 33 X 3—2x+2y — 3—2x+2y+3
Tx=-2x+2y+4+3
25%1Y = 625 x 5 = 5% x 53 = 5P +4
L 2x+2y=3y+4
5 Ag Agatn
xX=095,y=26
647 x 625" = (26)5 x (54)6 = 230 x 524
= (10)% x 26 = 64 x 10%*

whebA 26 24 ©f S=ot,




19. o3 AollA POl 322 (Ha#b+#c)

a b c
T @-ba-o  b-ob-a)  (c-a)c-b)
@o @ 1 ® 2 @ 3 ® 4
S5
P= 2 S + g

—-a -b —c
@-b)c—a)  (b-0a-b)  (c—a)b-0)
_ —a(b—-c)—b(c—a)—c(a-b)

(a=b)(b-c)(c—a)

—ab + ac — bc + ab — ac + bc —0

(a=Db)(b-c)(c—a)
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